EARAROBEEIERT — 2 N— IBISH —F

20185 1H8H (B) 11EIKR5H

B C2=# H5F%—H% ‘ [x1g] 2 ‘ [BERE] — |4 (A) 14000 R
[AE4£] 17 :200,000 ™ ~ 237%&:40,000”  337%&:20,000H” . 43&:14,000H 53 :6,000
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
—iv e HER :31. -1-1- . — EEE (KR)
11111 o4 T ROy o4 e 1(:2)3 1-1-1-1 | 39.8 1 (4;5) ,;%?JJ%
R:AO-I X124 B:F17-) 213 7
o = TR — :31. =P . — /IEREE (B&[E
2 2 | TRRAYT KT S ED 1(341)9 o2 |40 6 (4313) WAFE=
RV KYTYRIR B:o—F 4 RTINS J—HrIr—L
N NN ROE— :32. ~4-5- . — HEEFE (KR
3 4| EvITAUL # 6 a0 (12312/233 6-4-5-3 | 40.2 5 (4_737) nes (
RZRBFa—FTUNTF1 BTV ko ose)
S 4t 5 | A 1:33.1 3-3-3-4 |41.0| — 2 439 | FEFS= (BFE)
4 ) 3| NF—7%7 #53.0 ®) 4a) | B) K=2oT
L:hY/RI47T BEJNITRXS > 2]
— 5 s N 7 | BERRE 1:33.1 4-5-7-7 |40.8| — 3 458 | AR GKR)
5(5|5(=¥T x1E> 54.0 (757 () | tEA
RigALINT Ry IR Bt T sl $h—
i ] - 5 _ i 4 | ERERE 1:33.4 7-7-6-5 |40.9| — 7 435 | BAIEE] (KR)
EE 6| 7H v LY+ T 54.0 (1 1/2) “+7) KBEET
A4 a0 RK=—5— B A1 3INLhE e
o . BRERE : —6-4- - FHE (KR
2l7l7 €7 /aFk 6 on (11313/48 5-6-4-6 | 41.3 4 ;1_257) P (
L:2FA4d—I K BE7/VH1 2L atiEse]
® I —F—EBIERL
13=7r= 1,2,3,5,7,4,6
A== 1,2,3,4,5,7,6
Jol=5r= 1,2,3,7,4,6,5
40—+ — 1,2,4,3,6,7,5
[ N3
BB 1 140 714K 1-2 530M B = 1-2 1,210 3EHE 1-2-4 2,480
8 B 1 1209 1-4 330M B H 1-2 1,650 K31 1-2-4 8,560
2 720M 2-4 1,930M

ABICOVWTRDTEEERROODE. TR LIV,




